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A hot air balloon is at 140 feet and descends 20 feet per The tree sloth moves at a speed of 6 feet per minute,
minute. Determine whether the height of the hot air balloon Determine whether the number of feat the sloth moves is
IS proportional {9 the number of minutes. Explain your LoportionalI» the number of miutes it moves by graphing
reasoning. on the coordinate plane. Explain your reasoning.
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James earns $6 an hour babysitting. Determine whether the

amount of money James earns babysitting i oporti

{6 the number of hours he babysits by graphing on the

coordinate plane. Explain your reasoning.
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